

#### Florida Department of Transportation

#### 10/08/2020

			Vendor Ranking		Page 1 of 1
Letting:	02200930	September 30, 2020 11:00 AM	Call Order: 001	Contract:	E2Z65-R0
District:	District 2		Counties: DIST/ST-WIDE	Fed Aid No	o: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	41021257225 (*)
Contract Decay	Dravida and	install and an an incerted basis	a by the Dependences		

**Contract Desc:** Provide and install sod on as needed basis by the Department

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ALROD LOGISTICS, INC.	Responsive	Winning bid	\$147,102.50	100.00%
2	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$152,540.00	103.70%
3	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$174,575.00	118.68%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$224,206.90	152.42%
5	GREEN MAINTENANCE AND CLEANING	Responsive	Non-Winning Bid	\$235,686.50	160.22%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



### 10/08/2020

## Tabulation of Bids

Page 1 of 3

Letting:	02200930	September 30, 2020	Call Order:	001	Contract:	E2Z65-R0
District:	District 2		Counties:	DIST/ST-WIDE	Fed Aid No	<b>b:</b> N/A
Contract Time:	365 CALEND	AR DAYS			Project(s):	41021257225 (*)

**Contract Descr:** Provide and install sod on as needed basis by the Department

Provide and installing Bahia, Bermuda, St. Augustine and Centipede sod on as needed basis by the Department. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Alternat	te Quantity Units	(1) ALROD LOO	GISTICS, INC.	(2) MIDWI CONSTRUC			CONTRACTING
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SODDING (SY						
0005 E575 1 2 SODDING, CENTIPEDE	7,090.000 SY	7.25000	51,402.50	6.00000	42,540.00	7.50000	53,175.00
0010 E575 1 4 SODDING, ST AUGUSTINE	2,000.000 SY	7.25000	14,500.00	6.00000	12,000.00	7.50000	15,000.00
0015 E575 1 6 SODDING, BERMUDA	8,000.000 SY	6.25000	50,000.00	6.00000	48,000.00	7.75000	62,000.00
0020 E575 1 8 SODDING, BAHIA	4,800.000 SY	5.25000	25,200.00	5.00000	24,000.00	8.00000	38,400.00
0025 E570 9 1 WATER FOR GRASS & PLANTS	400.000 MG	15.00000	6,000.00	65.00000	26,000.00	15.00000	6,000.00
0001 SODDING (SY)	Section Totals:		\$147,102.50		\$152,540.00		\$174,575.00

Contract Grand Totals:	\$147,102.50	\$152,540.00	174,575.00
	l I		



# Tabulation of Bids

Page 2 of 3

Letting: 02200930	September 30,	2020 Call	<b>Order:</b> 001		Contract:	E2Z65-R0	
Line No / Item ID Alt	ernate Quantity Units	(4) ROGAR MAN CONSULTING	OF FLORIDA	(5) GREEN MA AND CLE			
() indicates item is bid as Lump	o Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SODDING (SY	,					
0005 E575 1 2 SODDING, CENTIPEDE	7,090.000 SY	9.61000	68,134.90	8.05000	57,074.50		
0010 E575 1 4 SODDING, ST AUGUSTINE	2,000.000 SY	9.61000	19,220.00	8.05000	16,100.00		
0015 E575 1 6 SODDING, BERMUDA	8,000.000 SY	9.61000	76,880.00	5.04000	40,320.00		
0020 E575 1 8 SODDING, BAHIA	4,800.000 SY	9.61000	46,128.00	5.04000	24,192.00		
0025 E570 9 1 WATER FOR GRASS & PLANT	400.000 FS MG	34.61000	13,844.00	245.00000	98,000.00		
0001 SODDING (	SY) Section Totals:	I	\$224,206.90		\$235,686.50		

**Contract Grand Totals:** 

\$224,206.90

\$235,686.50



			Tabulation of Bids			Page 3 of 3
Letting:	02200930	September 30, 2020	Call Order: 001	Contract:	E2Z65-R0	
		120.57(3), Floric	o file a protest within the time preso la Statutes, or failure to post the bo	ond or other security		
			within the time allowed for filing a k eedings under chapter 120, Florida			